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✷✵✳✶✳ ❋❧&❝❤❡♥❜❡,❡❝❤♥✉♥❣/❛,1❡♥

▼❛♥ ✉♥$❡&'❝❤❡✐❞❡$ ✈✐❡& ❇❡&❡❝❤♥✉♥❣'❛&$❡♥✿

✶✳ ❞✐❡ #✲❇❡&❡❝❤♥✉♥❣✱

✷✳ ❞✐❡ ❋✲❇❡&❡❝❤♥✉♥❣ ✱

✸✳ ❞✐❡ ❋❑✲❇❡&❡❝❤♥✉♥❣✱

✹✳ ❞✐❡ ❑✲❇❡&❡❝❤♥✉♥❣

❉✐❡ ❣❡♥❛✉❡'$❡♥ ✭♣&8③✐'❡♥✮ ❊&❣❡❜♥✐''❡ ❡&❤8❧$ ♠❛♥ ❞✉&❝❤ ❞✐❡ ?✲❇❡&❡❝❤♥✉♥❣✳ ❍✐❡& ✇❡&❞❡♥ ❑♦♦&❞✐♥❛$❡♥ ❞❡& ❤E❝❤'$❡♥

●❡♥❛✉✐❣❦❡✐$''$✉❢❡ ❞❡' ▲✐❡❣❡♥'❝❤❛❢$'❦❛$❛'$❡&' ✈❡&✇❡♥❞❡$✳

❇❡✐ ❞❡& ❋✲❇❡&❡❝❤♥✉♥❣ ✇❡&❞❡♥ ❋❡❧❞♠❛J❡ ❡✐♥❡& ❖&$❤♦❣♦♥❛❧❛✉❢♥❛❤♠❡ ♦❞❡& ❑♦♦&❞✐♥❛$❡♥ ❣❡&✐♥❣❡&❡& ◗✉❛❧✐$8$ ✈❡&✲

✇❡♥❞❡$✳ ■♠ ▲✐❡❣❡♥'❝❤❛❢$'❦❛$❛'$❡& ✇❛& ❞✐❡'❡ ❆&$ ❞❡& ❋❧8❝❤❡♥❜❡&❡❝❤♥✉♥❣ P❜❧✐❝❤✱ ❜✐' ❞✐❡ ❑♦♦&❞✐♥❛$❡♥ ♠✐$ ❞❡&

▲❛❣❡❣❡♥❛✉✐❣❦❡✐$ ❍ ❡✐♥❣❡❢P❤&$ ✇✉&❞❡♥✳

❉✐❡ ❋❑✲❇❡&❡❝❤♥✉♥❣ ♥❡♥♥$ ♠❛♥ ❛✉❝❤ ❤❛❧❜❣&❛♣❤✐'❝❤❡' ❱❡&❢❛❤&❡♥❀ ❤✐❡& ✇❡&❞❡♥ ❋❡❧❞♠❛J❡ ✉♥❞ ❑❛&$❡♥♠❛J❡ ❣❡✲

♠❡✐♥'❛♠ ✈❡&✇❡♥❞❡$✳ ❉❛❜❡✐ ✐'$ ❡' ✇✐❝❤$✐❣✱ ❞❛'' ❞✐❡ ❋❡❧❞♠❛J❡ ❛✉❢ ❞❛' ❇❡&❡❝❤♥✉♥❣'❡&❣❡❜♥✐' ✈♦♥ P❜❡&✇✐❡❣❡♥❞❡♠

❊✐♥✢✉'' '✐♥❞✳

❉✐❡ ❑✲❇❡&❡❝❤♥✉♥❣ ✐'$ ❞❛' ❣&❛♣❤✐'❝❤❡ ❱❡&❢❛❤&❡♥❀ ❤✐❡& ✇❡&❞❡♥ ❑❛&$❡♥♠❛J❡ ❛✉' ❡✐♥❡& ❛♥❛❧♦❣❡♥ ❑❛&$❡ ❡✐♥❡' ❣❡❡✐❣✲

♥❡$❡♥ ❑❛&$❡♥♠❛J'$❛❜' ✈❡&✇❡♥❞❡$ ♦❞❡& ♠❛♥ ❞✐❣✐$❛❧✐'✐❡&$ ❞✐❡ ❛♥❛❧♦❣❡ ❑❛&$❡ ✉♥❞ &❡❝❤♥❡$ ❞✐❡ ❋❧8❝❤❡♥ ❞❛♥♥ ❛✉' ❞❡♥

❞✐❣✐$❛❧✐'✐❡&$❡♥ ❑♦♦&❞✐♥❛$❡♥✳

❉✐❡ ●❡♥❛✉✐❣❦❡✐$ ❞❡' ❤❛❧❜❣&❛♣❤✐'❝❤❡♥ ❜③✇✳ ❣&❛♣❤✐'❝❤❡♥ ❱❡&❢❛❤&❡♥' ❤8♥❣$ ✐♠ ❲❡'❡♥$❧✐❝❤❡♥ ✈♦♥ ❞❡& ●❡♥❛✉✐❣❦❡✐$

❞❡& ❑❛&$❡ ❜③✇✳ ❞❡& ❆❜❣&❡✐❢❣❡♥❛✉✐❣❦❡✐$ ✉♥❞ ✈♦♥ ❞❡& '❛❝❤❣❡&❡❝❤$❡♥ ❆✉'✇❛❤❧ ❞❡& ❣&❛♣❤✐'❝❤❡♥ ▼❛J❡ ❛❜✳ ■♠ ❑❛$❛'$❡&

❤❛❜❡♥ ❞✐❡'❡ ❜❡✐❞❡♥ ❱❡&❢❛❤&❡♥ ❤❡✉$❡ ❦❡✐♥❡ ❇❡❞❡✉$✉♥❣ ♠❡❤& ✉♥❞ '♦❧❧❡♥ ❞❡'❤❛❧❜ ❤✐❡& ❛✉❝❤ ♥✐❝❤$ ♥8❤❡& ❜❡'❝❤&✐❡❜❡♥

✇❡&❞❡♥✳

✷✵✳✷✳ ❋❧&❝❤❡♥❜❡,❡❝❤♥✉♥❣ ❛✉/ ❋❡❧❞♠❛4❡♥

❲✐❧❧ ♠❛♥ ❞❡♥ ■♥❤❛❧$ ❡✐♥❡' ♥❛❝❤ ❞❡& ❖&$❤♦❣♦♥❛❧♠❡$❤♦❞❡ ❛✉❢❣❡♠❡''❡♥❡♥ ●&✉♥❞'$P❝❦' ❛✉' ❋❡❧❞♠❛J❡♥ ❜❡&❡❝❤♥❡♥✱

'♦ ③❡&❧❡❣$ ♠❛♥ ❡' ③✉♥8❝❤'$ ✐♥ ❘❡❝❤❡♥✜❣✉&❡♥✳ ❆❧' ❘❡❝❤❡♥✜❣✉&❡♥ ✇❡&❞❡♥ ♥✉& ❉&❡✐❡❝❦❡ ✉♥❞ ❚&❛♣❡③❡ ❜❡♥✉$③$✳

❉❛♥❛❝❤ '$❡❧❧$ ♠❛♥ ❢P& ❥❡❞❡ ❘❡❝❤❡♥✜❣✉& ❛♥❤❛♥❞ ❞❡& ❋❡❧❞♠❛J❡ ✉♥❞ ❣❡♠8J ❞❡♥ ❋❧8❝❤❡♥❢♦&♠❡❧♥ ❢P& ❉&❡✐❡❝❦ ✉♥❞

❚&❛♣❡③ ❞✐❡ ❋❛❦$♦&❡♥ ❛✉❢✳

✞

✝

☎

✆
❉&❡✐❡❝❦ F = g·h

2
❚&❛♣❡③ F = g1+g2

2
· h

❉✐❡ ❉✐✈✐'✐♦♥ ❞✉&❝❤ ✷ ❧8''$ ♠❛♥ ❛❜❡& ✈♦&❡&'$ ✉♥❜❡&P❝❦'✐❝❤$✐❣$✱ ❞✳ ❤✳ ♠❛♥ ❜❡&❡❝❤♥❡$ ③✉♥8❝❤'$ ✷❋✳

❙✐♥❞ ❞✐❡ ❋❛❦$♦&❡♥ ❛✉❢❣❡'$❡❧❧$✱ '♦ ❜❡&❡❝❤♥❡$ ♠❛♥ ✐❤&❡ ?&♦❞✉❦$❡✱ ❜✐❧❞❡$ ❞✐❡ ❙✉♠♠❡ ✉♥❞ $❡✐❧$ ❞✐❡'❡ ♥✉♥ ❞✉&❝❤ ✷✳

❉✐❡ ❆❜❜✐❧❞✉♥❣ ✷✵✳✷✳✶ ③❡✐❣$ ❡✐♥ ❡✐♥❢❛❝❤❡' ❇❡✐'♣✐❡❧

❇❡✐ ❞❡& ✶✳ ❇❡&❡❝❤♥✉♥❣ ✇✐&❞ ❞✐❡ ❣❛♥③❡ ❋❧8❝❤❡ ✐♥ ❚$❛♣❡③❡ ✉♥❞ ❉$❡✐❡❝❦❡ ③❡&❧❡❣$✳ ❇❡✐ ❞❡& ✷✳ ❇❡&❡❝❤♥✉♥❣ ③❡&❧❡❣$

♠❛♥ ❞❛' ●&✉♥❞'$P❝❦ ✐♥ ❛♥❞❡&❡ ❘❡❝❤❡♥✜❣✉&❡♥ ✭♠❡✐'$ ♥✉$ ❉$❡✐❡❝❦❡✮✱ '♦ ❞❛'' '✐❝❤ ③✇❛♥❣'❧8✉✜❣ ❛♥❞❡&❡ ❋❛❦$♦✲

&❡♥♣❛❛&❡ ❡&❣❡❜❡♥✳ ❑❡✐♥❡'❢❛❧❧' ❞P&❢❡♥ ❜❡✐ ❜❡✐❞❡♥ ❇❡&❡❝❤♥✉♥❣❡♥ ❣❧❡✐❝❤❡ ❋❛❦$♦&❡♥♣❛❛&❡ ❛✉❢❣❡'$❡❧❧$ ✇❡&❞❡♥✳

✷✷✺



❚❡✐❧ ❈✿ ●❡♦❞$%✐'❝❤❡ ❇❡+❡❝❤♥✉♥❣❡♥

❇❡✐'♣✐❡❧ ❋✲ ❇❡+❡❝❤♥✉♥❣

❆❜❜✐❧❞✉♥❣ ✷✵✳✷✳✶✳✿ ❇❡✐'♣✐❡❧ ❋✲❇❡+❡❝❤♥✉♥❣

❩❡+❧❡❣✉♥❣ ✐♥ ❚+❛♣❡③❡ ✉♥❞ ❉+❡✐❡❝❦❡ ❩❡+❧❡❣✉♥❣ ♥✉+ ✐♥ ❉+❡✐❡❝❦❡

✭❉+❡✐❡❝❦❡ ♠✐% ❣❧❡✐❝❤❡+ ❍C❤❡✱ ❞✳❤✳ ❛♥ ❞❡+ '❡❧❜❡♥

●+✉♥❞❧✐♥✐❡✱ ✇✉+❞❡♥ ③✉'❛♠♠❡♥❣❡❢❛''%✮

I 4, 5 · 12, 0 = 54, 00

II (4, 5 + 9, 5) · (18, 0− 12, 0) = 84, 00

III 9, 5 · (25, 0− 18, 0) = 66, 50

IV 8, 9 · (25, 0− 20, 0) = 44, 50

V (8, 9 + 8, 0) · (20, 0− 6, 0) = 236, 60

V I 8, 0 · 6, 0 = 48, 00
∑

✷❋❂ 533, 60
❋

1

2
· 533, 60 = 266, 80

❋❧$❝❤❡♥✐♥❤❛❧% = 267m2

I 4, 5 · 18, 0 = 81, 00

II 9, 5 · (25, 0− 12, 0) = 123, 50

III 8, 9 · (25, 0− 6, 0) = 169, 10

IV 8, 0 · 20, 0 = 160, 00
∑

✷❋❂ 533, 60

❋

1

2
· 533, 60 = 266, 80

❋❧$❝❤❡♥✐♥❤❛❧% = 267m2

❇❡✐❞❡ ❇❡+❡❝❤♥✉♥❣❡♥ ❡+❣❡❜❡♥ ❞❛''❡❧❜❡ ❊+❣❡❜♥✐' ✭❞✉+❝❤❣+❡✐❢❡♥❞ ❣❡'✐❝❤❡+%❡' ❊+❣❡❜♥✐'✮✳

✷✵✳✸✳ ❋❧&❝❤❡♥❜❡,❡❝❤♥✉♥❣ ❛✉0 ❑♦♦,❞✐♥❛5❡♥

❙✐♥❞ ❞✐❡ ❊❝❦♣✉♥❦%❡ ❡✐♥❡+ ③✉ ❜❡+❡❝❤♥❡♥❞❡♥ ❋❧$❝❤❡ ✐♥ ❡✐♥❡♠ ❡✐♥❤❡✐%❧✐❝❤❡♥ +❡❝❤%✇✐♥❦❧✐❣❡♥ ❑♦♦+❞✐♥❛%❡♥'②'%❡♠

❜❡'%✐♠♠%✱ '♦ ❧$''% '✐❝❤ ❞✐❡ ❋❧$❝❤❡ ❜❡+❡❝❤♥❡♥✱ ✐♥❞❡♠ ♠❛♥ ❥❡✇❡✐❧' ❜❡♥❛❝❤❜❛+%❡ N✉♥❦%❡ ❛❧' ❊❝❦♣✉♥❦%❡ ❡✐♥❡'

❚+❛♣❡③❡' ❛♥'✐❡❤%✳ ❉✐❡ ❡✐♥③❡❧♥❡♥ ❚+❛♣❡③❡ ✇❡+❞❡♥ ❞✉+❝❤ ❞✐❡ ❑♦♦+❞✐♥❛%❡♥❛❝❤'❡♥✱ ❖+❞✐♥❛%❡♥✱ ❆❜'③✐''❡♥ ✉♥❞ ❞✐❡

●+❡♥③❡ ❣❡❜✐❧❞❡%✳ ❱❡+❢♦❧❣% ♠❛♥ ✐♥ ❆❜❜✐❧❞✉♥❣ ✷✵✳✸✳✶ ❞✐❡ ●+❡♥③❡ ❞❡' ③✉ ❜❡'%✐♠♠❡♥❞❡♥ ❋❧✉+'%R❝❦'  ❡❝❤$%❧'✉✜❣✱ '♦

❡+❣✐❜% '✐❝❤ ❞✐❡ ❋❧$❝❤❡ ✇✐❡ ❢♦❧❣%✿

2F = (x2 − x3)(y2 + y3)
✰ (x3 − x4)(y3 + y4)
✲ (x4 − x5)(y4 + y5)
✲ (x5 − x1)(y5 + y1)
✲ (x1 − x2)(y1 + y2)

❉✐❡ ❡+'%❡♥ ❜❡✐❞❡♥ ❚+❛♣❡③❡ ✉♠❢❛''❡♥ ❞✐❡ ❋❧$❝❤❡ ❞❡' ❋❧✉+'%R❝❦' ✉♥❞ ❞✐❡ ❋❧$❝❤❡♥ ✈♦♠ ❋❧✉+'%R❝❦ ❜✐' ③✉+ ❳✲❆❝❤'❡✳

❉✐❡ ❧❡%③%❡♥ ❞+❡✐ ❚+❛♣❡③❡ ✉♠❢❛''❡♥ ❞✐❡ ❋❧$❝❤❡♥ ✈♦♠ ❋❧✉+'%R❝❦ ❜✐' ③✉+ ❳✲❆❝❤'❡✱ ❞✐❡ ✇✐❡❞❡+ '✉❜%+❛❤✐❡+% ✇❡+❞❡♥

♠R''❡♥✳ ❉✉+❝❤ ❯♠'%❡❧❧✉♥❣ ❞❡+ ❳✲❑♦♦+❞✐♥❛%❡♥ ✐♥ ❞❡+ ❑❧❛♠♠❡+ ❜❡✐ ❞❡♥ ❧❡%③%❡♥ ❞+❡✐ ❚+❛♣❡③❡♥ $♥❞❡+♥ '✐❝❤ ❞✐❡

❱♦+③❡✐❝❤❡♥✱ '♦ ❞❛'' '✐❝❤ ❡+❣✐❜%✿
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❑❛♣✐$❡❧ ✷✵✿ ❋❧"❝❤❡♥❜❡(❡❝❤♥✉♥❣

❆❜❜✐❧❞✉♥❣ ✷✵✳✸✳✶✳✿ ❊♥5✇✐❝❦❧✉♥❣ ❞❡( ●❛✉:✬<❝❤❡♥ ❋❧"❝❤❡♥❢♦(♠❡❧

2F = (x2 − x3)(y2 + y3)
✰ (x3 − x4)(y3 + y4)
✰ (x4 − x5)(y4 + y5)
✰ (x5 − x1)(y5 + y1)
✰ (x1 − x2)(y1 + y2)

▼✉❧5✐♣❧✐③✐❡(5 ♠❛♥ ❞✐❡ ❑❧❛♠♠❡(❛✉<❞(E❝❦❡ ❛✉< ✉♥❞ <♦(5✐❡(5 ❞✐❡ ❡✐♥③❡❧♥❡♥ ●❧✐❡❞❡( ❞❡( ❋♦(♠❡❧ ♥❛❝❤ y✱ <♦ ❡(❤"❧5 ♠❛♥

2F = y1(x5 − x1 + x1 − x2)
✰ y2(x1 − x2 + x2 − x3)
✰ y3(x2 − x3 + x3 − x4)
✰ y4(x3 − x4 + x4 − x5)
✰ y5(x4 − x5 + x5 − x1)

❜③✇✳

2F = y1(x5 − x2)
✰ y2(x1 − x3)
✰ y3(x2 − x4)
✰ y4(x3 − x5)
✰ y5(x4 − x1)

♦❞❡( ❛❧❧❣❡♠❡✐♥ ❣❡<❛❣5 ✭n✿ H✉♥❦5♥✉♠♠❡(♥✱ (❡❝❤5<❧"✉✜❣ ✈❡(❣❡❜❡♥✮✿

✞

✝

☎

✆
2F = Σ yn (xn−1 − xn+1)

❇❡(❡❝❤♥✉♥❣<❜❡✐<♣✐❡❧✿

❑♦♦(❞✐♥❛5❡♥ ❇❡(❡❝❤♥✉♥❣<❛♥<❛5③

H❦5✳◆(✳ ② ①

✶ ✽✺✱✵ ✶✵✱✵ ✶ ✽✺✱✵·✭✶✻✱✵✲✷✷✱✵✮✰

✷ ✽✷✱✵ ✷✷✱✵ ✷ ✽✷✱✵·✭✶✵✱✵✲✸✻✱✵✮✰

✸ ✽✹✱✵ ✸✻✱✵ ✸ ✽✹✱✵·✭✷✷✱✵✲✺✵✱✵✮✰

✹ ✾✹✱✵ ✺✵✱✵ ✹ ✾✹✱✵·✭✸✻✱✵✲✹✸✱✵✮✰

✺ ✶✷✹✱✵ ✹✸✱✵ ✺ ✶✷✹✱✵·✭✺✵✱✵✲✷✾✱✵✮✰

✻ ✶✷✺✱✵ ✷✾✱✵ ✻ ✶✷✺✱✵·✭✹✸✱✵✲✶✻✱✵✮✰

✼ ✶✶✵✱✵ ✶✻✱✵ ✼ ✶✶✵✱✵·✭✷✾✱✵✲✶✵✱✵✮

✷❋❂ ✷✹✶✼✱✵✵

❋❂ ✶✷✵✽ ♠➨

❖(❞♥❡5 ♠❛♥ ❞✐❡ ❡✐♥③❡❧♥❡♥ ●❧✐❡❞❡( ❞❡( ❋♦(♠❡❧ <5❛55 ♥❛❝❤ y ♥❛❝❤ x✱ <♦ ❦♦♠♠5 ♠❛♥ ❛✉❢ ❞❡♠ ❣❧❡✐❝❤❡♥ ❲❡❣❡ ③✉✿

✞

✝

☎

✆
2F = Σxn (yn+1 − yn−1)

❍✐❡(♠✐5 ❤❛❜❡♥ ✇✐( ❞✐❡ ❜❡✐❞❡♥ ●❛✉#✬%❝❤❡♥ ❉+❡✐❡❝❦%❢♦+♠❡❧♥ ❡(♠✐55❡❧5✳ [❜❧✐❝❤❡(✇❡✐<❡ ✈❡(✇❡♥❞❡5 ♠❛♥ ❡✐♥❡ ❞❡( ❜❡✐❞❡♥

❋♦(♠❡❧♥ ③✉( ❊(<5✲✱ ❞✐❡ ③✇❡✐5❡ ③✉( ❑♦♥5(♦❧❧❜❡(❡❝❤♥✉♥❣✳ ❲✐❝❤5✐❣ ✐<5✱ ❞❛<< ❞❡( ❘❡❝❤❡♥❛♥<❛5③ ❢E( ❞❛< ✭❜❡❧✐❡❜✐❣❡✮

❱✐❡❧❡❝❦ ✈♦♥ H✉♥❦5 ③✉ H✉♥❦5 ❣❡❤❡♥❞ +❡❝❤2%❧3✉✜❣ ❡(❢♦❧❣5✳

➘❤♥❧✐❝❤ ✇✐❡ ❞✐❡ ●❛✉:✬<❝❤❡♥ ❉(❡✐❡❝❦<❢♦(♠❡❧♥ ❧❛<<❡♥ <✐❝❤ ❛✉❝❤ ❞✐❡ ●❛✉#✬%❝❤❡♥ ❚+❛♣❡③❢♦+♠❡❧♥ ❛❜❧❡✐5❡♥✿

✷✷✼



❚❡✐❧ ❈✿ ●❡♦❞$%✐'❝❤❡ ❇❡+❡❝❤♥✉♥❣❡♥

✞

✝

☎

✆
2F = Σ(xn + xn+1) · (yn+1 − yn)

✞

✝

☎

✆
2F = Σ(yn + yn+1) · (xn − xn+1)

■♠ ✉♥'❡+❡♠ ❇❡✐'♣✐❡❧ ❤❛❜❡♥ ✇✐+ 6+%❧✐❝❤❡ ❑♦♦+❞✐♥❛%❡♥ ❢9+ ❞✐❡ ❋❧$❝❤❡♥❜❡+❡❝❤♥✉♥❣ ♠✐% ❞❡+ ●❛✉;✬'❝❤❡♥ ❉+❡✐❡❝❦'❢♦+♠❡❧

❜❡♥✉%③%✳ ◆❛%9+❧✐❝❤ ❦6♥♥❡♥ ♠✐% ❞❡♥ ●❛✉;✬'❝❤❡♥ ❋❧$❝❤❡♥❢♦+♠❡❧♥ ❛✉❝❤ ❋❧$❝❤❡♥ ❛✉' ▲❛♥❞❡'❦♦♦+❞✐♥❛%❡♥ ❜❡+❡❝❤♥❡%

✇❡+❞❡♥✳ ❉❛③✉ ❜❡♥✉%③% ♠❛♥ ❤❡✉%❡ ❡✐♥ ❡♥%'♣+❡❝❤❡♥❞❡' ❇❡+❡❝❤♥✉♥❣'♣+♦❣+❛♠♠ ✭③✳ ❇✳ ❑■❱■❉✱ ●❡♦✽✱ ❑❆❋❑❆ ♦❞❡+

❑❆❱❉■ ✉'✇✳✮✳

❇❡✐ ❞❡+ I+♦%♦❦♦❧❧✐❡+✉♥❣ ❞❡+ ❋❧$❝❤❡♥❜❡+❡❝❤♥✉♥❣ ✇❡+❞❡♥ ♥❛❝❤❣❡✇✐❡'❡♥✿

✶✳ ❞✐❡ I✉♥❦%♥✉♠♠❡+ ❞❡+ ❜❡♥✉%③%❡♥ I✉♥❦%❡ ✐♥ ❞❡+ ❡♥%'♣+❡❝❤❡♥❞❡♥ ❘❡✐❤❡♥❢♦❧❣❡✱

✷✳ ❡✈❡♥%✉❡❧❧ ❞✐❡ ●+❡♥③❧$♥❣❡♥ ③✇✐'❝❤❡♥ ❞❡♥ ❜❡♥✉%③%❡♥ I✉♥❦%❡♥ ✭❞✐❡♥% ❛❧' ❑♦♥%+♦❧❧❡✮✱

✸✳ ❞✐❡ ❋❧$❝❤❡ ♠✐% ✷ ❑♦♠♠❛'%❡❧❧❡♥✱

✹✳ ❞✐❡ ❋❧$❝❤❡ ❣❡+✉♥❞❡% ❛✉❢ ✈♦❧❧❡ ◗✉❛❞+❛%♠❡%❡+✳

✷✵✳✹✳ ❋❧&❝❤❡♥❜❡,❡❝❤♥✉♥❣ ✈♦♥ ❑,❡✐34❡✐❧❡♥

✷✵✳✹✳✶✳ ❋❧'❝❤❡♥❜❡-❡❝❤♥✉♥❣ ❡✐♥❡1 ❑-❡✐1❛✉11❝❤♥✐44❡1

❋❧$❝❤❡♥❜❡+❡❝❤♥✉♥❣ ❡✐♥❡' ❑+❡✐'❛✉''❝❤♥✐%%' ❋❧$❝❤❡ ③✇✐'❝❤❡♥ ❑+❡✐'❜♦❣❡♥ ✉♥❞ ❚❛♥❣❡♥%❡♥

❆❜❜✐❧❞✉♥❣ ✷✵✳✹✳✶✳

❉✐❡ ❇❡+❡❝❤♥✉♥❣ '❡✐ ❛♥ ❡✐♥❡♠ ❇❡✐'♣✐❡❧ ✭'✳ ❆❜❜✐❧❞✉♥❣ ✷✵✳✹✳✶ ❧✐♥❦'✮ ❡+❧$✉%❡+%✳

●❡❣❡❜❡♥✿ ❚❛♥❣❡♥%❡♥❧$♥❣❡ t = 32, 50m❀ ❘❛❞✐✉' r = 10, 00m

●❡'✉❝❤%✿ ❋❧$❝❤❡ ❞❡' ❑+❡✐'❛✉''❝❤♥✐%%❡' MEA

▲'(✉♥❣✿

✶✳ tan α
2
= t

r
✹✳ ❊' ✈❡+❤$❧% '✐❝❤ ❛✉❝❤

tan α
2
= 32,50

10,00
= 3, 2500 b

2rπ
= F

r2π

α
2
= 80, 997 gon

✺✳ ❞❛♥♥ ✐'%

✷✳ α = 161, 994 gon F = b·r2π
2rπ

= b·r
2
⇒ F = 25,45·10,00

2
= 127, 2m2

F ❧$''% '✐❝❤ ❛✉❝❤ ♦❤♥❡ ❞❡♥ ❯♠✇❡❣ 9❜❡+ b

✸✳ ❊' ✈❡+❤$❧% '✐❝❤ ❞✐+❡❦% ❛✉' ❢♦❧❣❡♥❞❡♥ I+♦♣♦+%✐♦♥❡♥ ❜❡+❡❝❤♥❡♥✿

b
r
= α

ρ
✭✈❣❧✳ ❑❛♣✐%❡❧ ✶✳✹✮

α
400

= F
r2π

⇒ F = α·r2·π
400

❞❛♥♥ ✐'% F = 161,994·100·π
400

= 127, 2m2

b = α·r
ρ
⇒ b = 10·161,994

63,6620
= 25, 45m
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7♦ ✇✐(❞ ③✉♥"❝❤7, ❞❡( ❋❧"❝❤❡♥✐♥❤❛❧, ❜✐7 ③✉♠ ❚❛♥❣❡♥,❡♥7❝❤♥✐,,♣✉♥❦, ❚ ❜❡(❡❝❤♥❡,✳ ❉✐❡ ③✉ ✈✐❡❧ ❜❡(❡❝❤♥❡,❡ ❋❧"❝❤❡

③✇✐7❝❤❡♥ ❞❡♠ ❑(❡✐7❜♦❣❡♥ ✉♥❞ ❞❡♥ ❚❛♥❣❡♥,❡♥ ✇✐(❞ ❛♥7❝❤❧✐❡D❡♥❞ ❛❜❣❡③♦❣❡♥✳

❉✐❡ ❇❡(❡❝❤♥✉♥❣ ❞✐❡7❡( ❆❜③✉❣7✢"❝❤❡ 7❡✐ ❛♥ ❡✐♥❡♠ ❇❡✐7♣✐❡❧ ❡(❧"✉,❡(,✳

●❡❣❡❜❡♥✿ ❚❛♥❣❡♥,❡♥❧"♥❣❡ t = 32, 50m✱ ❘❛❞✐✉7 r = 10, 00m

●❡7✉❝❤,✿ 7❝❤(❛✣❡(,❡ ❋❧"❝❤❡ AET ✳

▲+,✉♥❣✿

✶✳ tan α
2
= t

r
✸✳ ■♥❤❛❧, ❞❡( ❋❧"❝❤❡ ❆❊❚✿

⇒ tan α
2
= 32,50

10,00
= 3, 2500 ⇒ F = 2·r·t

2
−

b·r
2

⇒
α
2
= 80, 997 gon ⇒ F = r · t− b·r

2

⇒ α = 161, 994 gon ⇒ F = r
(

t− b
2

)

F = 10, 00 (32, 50− 12, 72)

✷✳ b = r·α
ρ

F = 197, 80m2

⇒ b = 25, 45m

✷✷✾


